Instructor Notes
[bookmark: _GoBack]Lesson Objective:  Students will be able identify the numerator and denominator of a fraction and be able to convert improper fractions to a mixed number and mixed numbers into an improper fraction.

Important terminology for understanding fractions
Fraction- A portion of a whole
Denominator- The bottom number of a fraction
Numerator –The top number of a fraction
Improper Fraction– When the numerator is equal to or greater than the denominator
Mixed Number – A whole number and a fraction


A carpenter measures a room and finds the length is 119 ¾ inches long.
Convert this to an improper fraction.


Step 1: Multiply the whole number by the denominator

119 x 4 = 476

Step 2: Add that answer to the numerator

476 + 3 = 479

Step 3: Put that answer on top of your denominator





Example 1:  A board measures 78 ½ inches long


Step 1: Multiply the whole number by the denominator

78 x 2 = 156

Step 2: Add that answer to the numerator

156 + 1 = 157

Step 3: Put that answer on top of your denominator




Example 2: Change the improper fraction into a mixed number


When the numerator is greater than the denominator, it is an improper fraction. To change it to a mixed number:

Step 1: Divide the numerator by the denominator.

 

Step 2: Write down the whole number answer
5

Step 3: Write the remainder over the denominator



Try it:   Change the improper fraction into a mixed number


Step 1: Divide the numerator by the denominator.

 

Step 2: Write down the whole number answer
5
Step 3: Write the remainder over the denominator




Example 3:  
Convert the mixed number into an improper fraction



Step 1: Multiply the whole number by the denominator

3 x 9 = 27
Step 2: Add that answer to the numerator

27 + 5 = 32

Step 3: Put that answer on top of your denominator



Try it: 
Convert the mixed number into an improper fraction



Step 1: Multiply the whole number by the denominator

10 x 11 = 110

Step 2: Add that answer to the numerator

110 + 2= 112

Step 3: Put that answer on top of your denominator
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